& fE Bl

EXPLOS | ON

o T #H 2B HERE T % E | BE [fRSR T B % e
1 %85 1 | 53 | FEAREE w4 1 105 | F#EAREEREE 1
2 | AR 1 | 54 | FEAREE R 1 1106 | AP jEE 1
3 | M5IER 1 | 55 | PIN3X18mm 1 107 |RBPIsE 1
4 |iRsESH 1 | 56 | SEAKE E R GRERE 1 108 | #EEZE+FM4X8mm 2
5 | B 1 | 57 | dEARREE EEREHRE 1 (109 | FE=@EEes 1
6 | i 1 | 58 | FEK[ETE FE Al GARAIE A 1 [110 | FBFIERR 1
7 | RiER - 1 | 59 | RTEIREH#R 1111 | BBPIZR AR 1
8 | B LRpARARR 1 |60 | RHTER 1 [112 | BEPRFGRA%E 1 1
9 |EIEE 1|61 | RETSREEREE 1 113 | FRPI R4 1
10 |PIN4X28mm 4 | 62 | REEITHEE 1 [114|M3X10+F 2
11 Léﬁﬁﬂﬁﬂﬁ | 1 [ 63 |EESIFE 1 [115| FEEE 2R 1
12 | IR 1 | 64 | mIEIGBE 1 116 | L EEERME 1
13 M8X25MME%L& ) 1 | 65 | RiEtgE 1 117 |PIN2X8mm iu
14 | PIN3X15mm 1 | 66 | mRHEES 1 |118| k& 1
15 | PIN4.8X18mm 1 | 67 | ORUIR3.5X1.5 3 |19 | BB EEH 1
16 | PIN2X5mm 1 | 68 | PIN2X14mm 3EEHY 1 1120 | fE#tEEAR R 1
17 | HEiEE 1|69 EnFﬁi’éRE‘""H 1 121 | B AR 1
18 | /AZRH 1| 70 | EAEEERER 1 [122iEER 1
19 |AEHR U EZ PIN2X10mm 1 123 | BT 1
20 | FAERE 1| 72 | fBEEs 1 124 | BEEHEH 1
21 | BRRmEE 1 | 73 | {5 EfsHh 2 [125|M2.5X3.5mm— 1
22 |OXg18X2 1 | 74 | M5X30mmi&ih 1 [126] fEdtE 1
23 | PIN1.5X14mm 1 |75 |EEARE 1 [127|Est 1
24 | BRR1E R RAsEE 1 | 76 | E5#ER 1 128 | fERTEE 1
25 | PIN2X23mm 1| 77 | R0 1 [129 | /RAE8h52X6.1 1
26 | BT 1 |78 | 151214 1 [130 | EEGERASESE A 2
27 | M2.5X5F 88 3 | 79 | MAX65mmiZih 2 (131 fEdt i
28 |HOPUPEEA 1 |80 |#MEHAE 1 [132| fEdtEeigEs 1
29 |HOPUPEEA 1 | 81 |BERRAHR(EI) 1 [133 | FEEEE 1
30 | ABERE 1 | 82 |#8#E 1 [134| M2X4[ElsE 1
31 | AEE635mm 1 | 83 | HBIEIEMR 1 135 | BEEHSHREE 1
32 |HOPUP:A%:EE 1 |84 | MAX12BK 3 [136 M2.5x16lﬁ+ac 1
33 |HOPUP:R%E4H 1 | 85 | F&FEPIN 1 137 | Z&EKR i
34 | HOPUP#E@i#h 1 |86 |PIN 2X24 2 138 E,. 7N 1
35 | IMEE 1 | 87 |PIN 2x17 1 [139 | iEHEd Ak 1
36 | M3X31E{Fighk 2 | 88 | R IRHIEE 1 140 ﬂﬁ:r&é 1
37 | M2X10+F 2 | 89 |HE[EEAR 1 141 | i EEEO 1
38 [PoktE 1190 [s#@EHMEFE 1 142 | BERBIEAR 1
39 | O¥E14X2 1191 M2x25 3 [143 | BARBHIR £ 40 1
40 | AR E 1 | 92 | 2MM#REk 1 [144|BEpR 1
41 | EEEEE 1 | 93 | EHrEFIzeEE 1 145 | BERBINIRSEE 1
42 | £2 1 | 94 | O¥g45X1mm 1 146 | BERRHIIRERAR N
43 | PIN3X10mm 2 | 95 | M3X8mm—+F 1 147 |BEERINER 1
44 | FHrEEE 1 | 96 | L5HEEsEE 120mm 1 148 | BERBNER £ S 1
45 | RHTEEF1E 1|97 |iE2sh 1 |149 | BERBHIER BRAR iy 1
46 | PIN3X12mm 2 | 98 | &R 1 150 | M3X12F 88 4
| 47 | PIN3X7.5mm 1| 99 | SErEsHEh 1 151 PIN4X39.5; 812 E EHEFHE | 1
48 | RHTEEFHESRE 1 1100 | /B1%8] 1 152 | M3X8FEE+5F 1
49 Eﬁﬁxﬁ—f“ SEER 1 [101| /81578 1 |153 | REAM25XIBEHTES | 1
50 | BHpE 1 102 | JBHREE 1 154 | M4X4I-fHEE R 1
161 au’é’%ia 1 |103 | /B1EHE 2 |155|E#03.5 1
52 | RS E% 5 1 104 | B12fE 1

|
|

& *E Bl

EXPLOS | ON

42§

4552

136 5127 w7 ¥
1152 126
— s
. 4 125122%

132
123

121%

135
Lhaa
153 s




